NCERT Solution for Class 1 Mathematics

Chapter 8

Numbers from Twenty-one to Fifty
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I

|

*.

‘[ !W PREPERGS 18
i

l

i | |

Answer:

LA RS AR
-M 16

|
|
|
l
|
|
l
|

Q2: Write the number

LI

— ’I‘ENTONES" S

E.LT 4 4
e 1
§ I
T —— —
M,ft::
§
TEN ONES
~{ TEN [ONES} *‘[



\edantn,

Study Materials

NCERT Solutions for Class 6 to 12 (Math & Science)
Revision Notes for Class 6 to 12 (Math & Science)

RD Sharma Solutions for Class 6 to 12 Mathematics

RS Aggarwal Solutions for Class 6, 7 & 10 Mathematics
Important Questions for Class 6 to 12 (Math & Science)
CBSE Sample Papers for Class 9, 10 & 12 (Math &
Science)

Important Formula for Class 6 to 12 Math

CBSE Syllabus for Class 6 to 12

Lakhmir Singh Solutions for Class 9 & 10

Previous Year Question Paper

CBSE Class 12 Previous Year Question Paper

CBSE Class 10 Previous Year Question Paper

JEE Main & Advanced Question Paper

NEET Previous Year Question Paper



https://www.vedantu.com/ncert-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/revision-notes/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/rd-sharma-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/rs-aggarwal-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/cbse/important-questions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/sample-papers/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/sample-papers/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/formula/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/syllabus/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/textbook-solutions/lakhmir-singh-solutions/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/cbse-previous-year-question-papers-class-12/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/previous-year-question-paper/cbse-previous-year-question-papers-class-10/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/iit-jee/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP
https://www.vedantu.com/neet/?otpRequired=true&utm_medium=organic&utm_source=pdf_append-seo-pages&utm_campaign=SEO-LP

CTa
| !
| |
[ g ()lr‘\l!.s [
- {7 [oNES}
12 W&
(f— T rrvernerel

( |

{ {

—{Ten [oES l'g,im—J
CT 158

( o ]

{ |

L— Wﬁ-‘_r‘—‘ ONES’_‘[

TENS | ONES N

ez

Answer:



§ m

(— \
| |
| |
[— ‘f—TEN —R)NES _.[

O —
r—
—

"’“I'—g-_ilS
| !
I[ MM ONES }
IL_~ 'I‘ENs'—r()_]_\lg-s_zo _l
(210
——————— n
L I
L{—ENSBFESI‘ —

Q4: Write the numbers
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Q5: Numbers from 21 to 40
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Q6: Numbers from 41 to 50
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